

Nasbíráno 1.4.2002 pro přepsání do dvouznakového zápisu

$\tau^- \rightarrow \eta + \pi^- + \pi^+ + \pi^- + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^0}{x^1.t^0} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	6 5	?
$\tau^- \rightarrow \eta + \pi^- + \pi^0 + \pi^0 + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^0}{x^1.t^0} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^1.t^2}{x^1.t^2} \cdot \frac{x^1.t^2}{x^1.t^2} \cdot \frac{x^0.t^2}{x^0.t^1}$	6 7	?
$\tau^- \rightarrow \eta + K^- + \pi^0 + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^0}{x^1.t^0} \cdot \frac{x^2.t^1}{x^2.t^1} \cdot \frac{x^1.t^2}{x^1.t^2} \cdot \frac{x^0.t^2}{x^0.t^1}$	6 5	?
$\tau^- \rightarrow \eta + K^{0-} + \pi^- + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^0}{x^1.t^0} \cdot \frac{x^2.t^2}{x^2.t^2} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	6 5	?
$\tau^- \rightarrow K^- + \pi^0 + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^2.t^1}{x^2.t^1} \cdot \frac{x^1.t^2}{x^1.t^2} \cdot \frac{x^0.t^2}{x^0.t^1}$	5 5	
$\tau^- \rightarrow K^- + \pi^+ + \pi^- + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^2.t^1}{x^2.t^1} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	6 5	?
$\tau^- \rightarrow \mu^- + \nu_{\mu^-} + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^2}{x^1.t^1} \cdot \frac{x^1.t^0}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	4 4	
$\tau^- \rightarrow e^- + \nu_{e^-} + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^2.t^2}{x^2.t^1} \cdot \frac{x^0.t^0}{x^0.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	4 4	
$\tau^- \rightarrow *K^0 + K^{0-} + \pi^- + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^2.t^2}{x^2.t^2} \cdot \frac{x^2.t^2}{x^2.t^2} \cdot \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	7 7	
$\tau^- \rightarrow \pi^{+-} + \nu_\tau$	$\frac{x^2.t^1}{x^2.t^0} = \frac{x^1.t^1}{x^1.t^1} \cdot \frac{x^0.t^2}{x^0.t^1}$	3 3	
	$\frac{x^0.t^1}{x^2.t^0} = \frac{x^2.t^0}{x^0.t^1}$	2 2	

eh_033...24

$$H^0 = \tau^+ + \nu_e$$

$$\frac{x^0 \cdot t^1}{x^0 \cdot t^1} = \frac{x^2 \cdot t^1}{x^2 \cdot t^1} \cdot \frac{x^0 \cdot t^0}{x^0 \cdot t^0} \quad 2 \quad 2$$

$$H^0 = b + b^-$$

$$\frac{x^0 \cdot t^1}{x^0 \cdot t^1} = \frac{x^3 \cdot t^{5/3}}{x^2 \cdot t^{7/3}} \cdot \frac{x^2 \cdot t^{7/3}}{x^3 \cdot t^{5/3}} \quad 5 \quad 5$$

$$\eta = K^0 + K^{0-} + \pi^0$$

$$\frac{x^1 \cdot t^0}{x^1 \cdot t^0} = \frac{x^2 \cdot t^2}{x^2 \cdot t^2} \cdot \frac{x^2 \cdot t^2}{x^2 \cdot t^2} \cdot \frac{x^1 \cdot t^2}{x^1 \cdot t^2} \quad 6 \quad 6$$

$$K^0 = \mu^- + e^+$$

$$\frac{x^2 \cdot t^2}{x^2 \cdot t^2} = \frac{x^1 \cdot t^2}{x^1 \cdot t^1} \cdot \frac{x^2 \cdot t^1}{x^2 \cdot t^2} \quad 5 \quad 5$$

$$\rho^- = W^- + \pi^0$$

$$\frac{x^1 \cdot t^1}{x^1 \cdot t^1} = \frac{x^2 \cdot t^1}{x^2 \cdot t^1} \cdot \frac{x^1 \cdot t^2}{x^1 \cdot t^2} \quad 4 \quad 4$$

problém

$$\rho^+ = W^+ + \pi^0$$

$$\frac{x^1 \cdot t^1}{x^1 \cdot t^1} = \frac{x^2 \cdot t^2}{x^2 \cdot t^2} \cdot \frac{x^1 \cdot t^2}{x^1 \cdot t^2} \quad 4 \quad 5 \quad ?$$